Paper: B.E_B.Tech

Set Name: |SET 22

Exam Date: | 28 July 2022

Exam Shift: | 2

Langauge: |Odia

Topic: Physics-Section A
Item No: 1

Question ID: 15477154521
Question Type: | MCQ

@I6915 aEaa eI =P 10pe X Bonam, 6065 o, p gaie. T elaaigl. K
Question: sin kT
6QIPAIT JAIF, 8 6alde TAUR G2l x A AN AF 626/, AOR FFFS 1T :
A: B @ 2IF 999 AL A AAF
B: o ! x @ 2 986 AULA 92 AAIF
C: ! sind @ 2 of @ A AT ACUR
D: o 8 2N B @ AN AL AT
Topic: Physics-Section A
Item No: 2
Question ID: 15477154522
Question Type: | MCQ

t =0 AIE68 IR KdF 75 cm 0I5 I8 z FAIF 20l 6gF6R de00l 2198 @Rl |

Question: 60691l anasa @dwia | 98l ) Jesa Iog Qelgss 3t 4e° 5 QUEE gels)
REUSIERL t = Is AFINER FLED FJRY 686G 6217 (RSB 64115~ Q18)

A: -307

B: 30y

C: 3x+15y

D: 3% +155 + 72

Topic: Physics-Section A

Item No: 3

Question ID: | 15477154523

Question Type: | MCQ




@ 609 Of6q TI& 20 m/s AG6R QILIRG AIE 85 RUfISa §Y96 AIHgT 6RgTe
10 em? 266 | AICIFIER 881 YR 918 €IFI @9 YOI2g 6aIg 2IE RU6R QAISE

Question: QTR §YT @@ QLAY 20 m/sec 6ATISR 6RILEYT TR IRl YEUT FRG UL
629 ? [#99 998 = 1000 kg/m’ ]

A 300N

B: 500N

C: 250N

D: 400N

Topic: Physics-Section A

Item No: 4

Question ID: 15477154524

Question Type: | MCQ

@ 26NE m 99E 98l ‘L’ 63a4a 66161R 66 G2Q U6° add@e gR U6 o6 @98
| 96 2ealg. 697 § 918 I 2°8 YR CIF6Q EREIRI 6969 ERIGRI | 6A6@ & L.

25 & L
2°6 gRe 204 J6e gRaNI | e Gaw adasa 1= — 626R, 697 0. 904 % @4 |

X 9 ¢]m4 eeq ?
Question:
e ]
!
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A: 6
B: 2
C: 1.5
D: 4
Topic: Physics-Section A
Item No: 5
Question ID: 15477154525
Question Type: | MCQ




200 gm @2@ 9211 90 ] gI9Ee 96s 98 2ol ¢ 90d gudisr gm 8esa F1al aiql |
(5960 go) 1s (1 62694) G669 a9 J5F 9@ 40 T g adidem | gRS age gea
491 629 2SI 6969 AT 2GFN @3S ?

Question:

—_—_—_—_ — Water
>
= B R el

LA N

A: 45 m

B: 90 m

C: 125 m

D: 25m

Topic: Physics-Section A
Item No: 6

Question ID: 15477154526
Question Type: | MCQ

Flen@el Qﬁl@ et Qe didlioel 6Q1Re U9l (1 UEl-1 @ GYF eden Gall del -2 q
Q999 'h' KTeIER 696 629 &6l QAR | 95 Q-1 9e° A2 QAR IR 4 5

Question: “19° 6 s 99 6969 hal ¢lml 696 699 7
(Rg = geia1a QYIS 6400 km I9° 2 GEST 4I6Q 10 m/s)
A 1200 km
B: 1600 km
C: 3200 ki
D: 4800 km
Topic: Physics-Section A
Item No: 7
Question ID: 15477154527
Question Type: | MCQ




1 m YaFe Ingaa e1Eq 9960 g4 *AUTRI | S99 99 20 AReaa 6@ gag 15
m PFFIER 9EE | INEA FIRER 5 m ATFIER (ARER 6% GIQ) Y @&l AT 15 x
10° N @0 396 916 996 909 2068 J6s @RI5ER, 248 QITIQES 89 2IaI
d¢ 6960 629 2(QIYFSRR 91T P, = 1.01 x 10° Pa, 999 €8 p,, = 1000 kg/m’
e° go@ @adl g=10 m/s?)

Question: 5x10°N
"o —Hml=
15 m S|
- - s
o b -

A: 11.6 m's

B: 10.8 m/'s

C: 17.8 m's

D: 14.4 m's

Topic: Physics-Section A

Iltem No: 8

Question ID: 15477154528

Question Type: | MCQ

e QIges 14 g Flasgleas 27°C SIOrIgen @8 | oMId Age rm.s 4¢ § 98 94
@l AT QI § 6966 JRAIER 19 ALDT AR |

Question:
(R=8.32Tmol k! Ga)
A 222917
B: 56167
C: 036017
D: 13,1041
Topic: Physics-Section A
Item No: 9

Question ID: 15477154529

Question Type: | MCQ
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Question: 66 92 F12I50 QESR MRS FJRY 689 :
(@& C, = 69 ¢1sq QIg 2@l 9°01Rga IGe!)
. 4KC,
A I+ K
_ 3KC,
B: I+ K
I+ K
C: 4KC,
. K
D: 4+ K
Topic: Physics-Section A
Iltem No: 10
Question ID: | 154771545210
Question Type: | MCQ

E = (8m/e) V/m @ & Qe1IG GQ48 6816 1 m Mgl G99 648 996 1d6a 98 @auoiml |
(M=96R5,F6 928 1e° c-D6RY A9 0I8) U8 BEAGF 2 m's I067 3948 698G 94
6QQ FI%6Q AAITQ AIEE Y6RE ARl | IERT R TIQ 69EQ SITIRAI 6965 77 68

Qg QNG 6TID ATIRD ?
Question:
1m
1+ ig
Ymls _’__J:E_
A: tan” 1(4)
tan~ ! (2)
.
C: tan (—)
3
D: tan ! (3)
Topic: Physics-Section A
Item No: 11
Question ID: 154771545211
Question Type: | MCQ




6P QAT REIF QANT

@ARI:808 % g@eam gl w Qe @Iﬁﬁ@l@ e QIGEa @Fleml | g Bt

Question: Agq ACISA RUES CAFITRI | I SEUIER ATIGRY E6qIM 5 Q 629 |
@2@ 2 : 2R 92l 3R (JRYe 998 gEsalg A7ISR QISE DERaTs 089 69
621gIgml | 3R o2l 2R 6Q 98 620gQ 50 @9 AGAIS 3:2 629 |

A: e 02 19e° aa II 40

B: eag ea1e° e I gn

C: ea 15208 O) @ 03 II 6298 ga

D: 0@ 1 6208 g @3 92 I1 6208 O

Topic: Physics-Section A

Item No: 12

Question ID: | 154771545212

Question Type: | MCQ

10 A 9608 99120 e ggwieia qa § 0.5 T 988 Uw 20Ie 99 611569 S8l
(Gesa 2GRl 9&) | CD QUSEa FIdY 892/Q G190 @RQ DR 629
(BC =CD=BD =5 cm. @2IGf)

Question:
— C
Nignetic : Sem 5 cm
field —
— A B Sem D E
A 0.126 N
B: 0.312N
C: 0216 N
D: 0.245N
Topic: Physics-Section A
Item No: 13
Question ID: 154771545213
Question Type: | MCQ

IR G946 geIae 9R Ue FEgen UR1d 6886 9%l By 216% | g @ fkeg

Question: Olg SYIAITS 3 G4 9991 A06R. gUFIA 638a 5901 QUa 2T 206a B, 626R.
B,/B, @ €|l 622 :
0:4

B: 12: 5




C: 8%

D: 53

Topic: Physics-Section A
Item No: 14

Question ID: 154771545214
Question Type: | MCQ

8 kV gizgifie G 1e° 160 V 6964191 @096 @194 99819 9IgTds 80 kW @
6RIQ 6QIGIN | gIgErdady aled e° agd gisai smie 334 el Yee SAG!

Queston: ETRAER @Iy Gi@ﬁ C166 @em, glede Ue° §oae (sasaaia) AReER emlg Q ¢md
E@ee 69Q 7

A: 800 2+19° 1.06 Q2

B: 10 £ 0g@° 500 2

C: 300 2+9°0.32 Q2

D: 1.06 ©2~9Q° 500

Topic: Physics-Section A

Item No: 15

Question ID: 154771545215

Question Type: | MCQ

36 cm” 6EIGTR G918 QU QU6R gdY @ad Ju 968 I BINTR 7.2 x 10 N @

Question: g6 20 fG9 2198 FIRER PSS 969 | Ad 2R6AITGS 2RISR AAFE RS
SS9 I 689 :

A: 25.92 x 102 W/em?

B: 8.64 x 107 W/em?®

C: 6.0 W/cm?

D: 0.06 W/em?

Topic: Physics-Section A

Iltem No: 16

Question ID: | 154771545216

Question Type: | MCQ

4@ (7-069) 6nga Ye A89 AlIAea QIEIq 1.25 m™! 2166 | 6AgR 9G9a4Irs 1.5

Question: QGEIE QYIS GBS 20 em I9° 40 cm 2EFZ | 6RGG 6UR AFS| FIUNS
Jeaad e 629
A 1.0
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=
3
C: —
2
4
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3
Topic: Physics-Section A
Item No: 17
Question ID: 154771545217
Question Type: | MCQ

6610Im FIITRRe dlage Ue° 2agd 9@ §3a gaG 6TIS MGl 6A1TIR YIS

Question: Lelig e 2966 620 | 98 @9 (2194l) 69 ‘Q@Q@ L GLTIE ‘aﬂﬁi‘%ﬁ] 61@'??‘61
AQ1N@ 6998 AFTIE 624

A: } HoE

B: 1:3

C: 253

D: 3:i2

Topic: Physics-Section A

Item No: 18

Question ID: 154771545218

Question Type: | MCQ

Question: I8 0G0 AF% AR, B9 YNER RIS % QI 15 §5c6a 94 6esm. Aifn @ 21
@laq 6@6w 889 7

A: 5 min

B: 7.5 min

C: 15 min

D: 30 min

Topic: Physics-Section A

Item No: 19

Question ID: 154771545219

Question Type: | MCQ




n.pn CEI06 @698 AR p = 100 29, #91 IFGq 661660 | 596 12 @4l AI9F |
2HTIA00 2DTYST 6RINETT 6R66 62 2

| |
Question: |C| §10k£1 .
3 1L =
1 ml B
F
A 0.1V
B: 1.0V
C: 10V
D: 100V
Topic: Physics-Section A
Item No: 20
Question ID: 154771545220
Question Type: | MCQ

20 kHz 21988 fIgae 258 a4eea @92el FM 9eaid (ga1ed) gigfisas,

Question: ceaNaq (3948) 2gaIe 10 266 | gIgHiaq CI9 ALeYe 6a9deaa Ry 624 :
A: 220 kHz

B: 180 kHz

C: 360 kHz

D: 440 kHz

Topic: Physics-Section B

Item No: 21

Question ID: 154771545221

Question Type:

Numeric Answer

Question:

GIEI06 JSag 19.6 ms ! 69966 85 R GI6e aRe™] TR ARG 6 s U84
B S 5L T
Geiea Cgnl | 99 ARG 9f gRAIER AR (E) m 259§ SRl 6969 k 9 7Y

689 ?

(g=9.8 m/s” E‘El}

Topic:

Physics-Section B




Iltem No:

22

Question ID:

154771545222

Question Type:

Numeric Answer

@@ I (818 SIRSAaRIn) ade

o 122 | ke/m @g@ @9Q 9e° L aq 4!
g g[l L._ )

Question: it
i ) 2L Py 1:.
oizel. e gl @gutl 6wkl ol Q‘Eﬁ@l = m &¥em o o ?lﬁﬁ 3T
Topic: Physics-Section B
ltem No: 23
Question ID: 154771545223

Question Type:

Numeric Answer

4 mm? €19 689 62 0.5 m @9 29 919g 2 ke @ 656 9260 6AGIGN | 92]
0.5 m QYA 9RL Jelea JRIaR | 925 9aa Jaa 89 G96a 5 m/s Ag 2dq

Question: TERL. 69D GPER TN AT (647) < 107" 689 ?
(@ Gesie 101 N/m? \9e° g = 10 m/s® Q4QTIa @9)

Topic: Physics-Section B

Iltem No: 24

Question ID: | 154771545224

Question Type:

Numeric Answer

e G589 GIOAIgIEa 9T a1g Ggl A Tee 8 266 | AClF P16 NG §F 626x

Question: i ia i
oI 150 J @I @60t | Qi glel 9°gEe Kldal Jafll€l Jega ?
Topic: Physics-Section B
Item No: 25
Question ID: 154771545225

Question Type:

Numeric Answer

OI8 @98Ql U@ 4 kg RERIA x- 199 66 96F 6@ U = 4(1 - cosdx) ] GAUQIDET | 6816

Question: : . - o _
g (sm A= e) dim 2lea e [E] czem,. K5 Q ¢)my £ee ?
Topic: Physics-Section B
Item No: 26
Question ID: 154771545226

Question Type:

Numeric Answer




220 V. 100 W @ @94@ @f g 2164 9% 220 V. 60 W @ @f 42 644 2°62I9 @a1siql |

Question: QG E a9 AT 6RIMES'H 220 V 29, 100 V @ @ 2199 9I98 @69 | W a gy
629 ?

Topic: Physics-Section B

Item No: 27

Question ID: | 154771545227

Question Type:

Numeric Answer

DS AAFTES. 6 V Q4659169 99 'S’ 9% @RI €16 A
FEOL YQIEC 629 ?

Question: E Sitiian
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Topic: Physics-Section B
Item No: 28
Question ID: 154771545228

Question Type:

Numeric Answer

5966 G2IGRl 98 200 cm 96! QYIFIS 51 21999 @d4l 2I6sa 'o' 995 asIgl | o'
Qg 2 cm/s 636160 @4 29q 615 RER. 100 cm YINES GREI6A 10 s 969 GBI

219G cm 689 ?
Question: %
.
0 /ﬁ
Topic: Physics-Section B
Iltem No: 29
Question ID: 154771545229

Question Type:

Numeric Answer

Question:

PE5 6Ag §ITe USAS6R. 963 9918l (V) vs 98 998! (1) 6TIRT O FITISISR,
Vv =225 @ @6 F6R, 9% 99 99619 cm 63 AIA, ERGA 6TIad 65EIR QRIS
cm 689G 7

Topic:

Physics-Section B




Iltem No:

30

Question ID:

154771545230

Question Type:

Numeric Answer

UTESIER 62109 TN g (ARIRdE 859 Qe Ry AIGF 6962 100 62197 D 1

Question: sec GERIQIER 2ol 8C BI96Q LA IR 0.5 s ATIGRI | 9G 621996 6FeH 10 em 99
Imm F0RGIER I8° g A {54 68 x % A0S 6@ | x @ FAY 622 |

Topic: Chemistry-Section A

Item No: 31

Question ID: | 154771545231

Question Type: | MCQ

GEER QU 98 QEUKIRE 69Icg 9691 A Ie° 2RYoq @A R GIES 92F @AldIng
!

GERIB A : g (F60) KU ATIG IS 6TF AL AT

Question:
QIQdl R : 92| 38Q 2RI/ e99GG79 @0 AGASa AIFIalg 6291 6QIg 62192
USRS 98 2INEE 0T LERTT 77 TF g 1T |

A: e A ¥e° R 964 e° R 620F A @ 90@ QYIS

B: 2ag A e° R 964 @g R. A @ 90 QYIS g6

C: A QY @g R da

D: Adiey @5 R 99

Topic: Chemistry-Section A

Item No: 32

Question ID: | 154771545232

Question Type: | MCQ

Question: Q&G ISR Y68 A0R F6 6268
Na>Mg>Be>S1>P

B: P>S1>Be>Mg>Na

C: S1>P>Be>Na>Mg

D: Be>Na>Mg=>S1>P

Topic: Chemistry-Section A

Item No: 33

Question ID: 154771545233




Question Type:

MCQ

GC6R QUS98 FEUKIRE | 6olISg 9613 A 9 ARG @Ied R @I §EC
DT |

@B‘E_&‘I@ A :Q0e iy G AR FegIER &N GITIEEER BIa 65159 2oy IRIRE
dEmsel 6Llmel] |

Question:
RIS R : AGE 8 FRY AYSIAS QAITER 2@ T 60627 59 2R 16810 #08
2194l Ol 2R 2l |
2U60IS 88 AGAIER AG0IQ LAY VRaY §Y) FREa QI |
A: 2ee A ¥e° R 0% ¥e° R 629F A @ 90% Q4ISMI
B: 298 A 9e° R Ok @2 R, A @ 20 Q4§ g6%
C: ADR@gRam
D: Aga@gRO®
Topic: Chemistry-Section A
Item No: 34
Question ID: | 154771545234
Question Type: | MCQ

Question: Qe 096 29969 F9eRa 9061 AAasa fAgaal 9YIe 969 62 :
A CaCO; ~9° MgCO,

B Ca(OH), e° Mg(OH),

C: CaCO; 19° Mg(OH),

D Ca(OH), “1e° MgCO,

Topic: Chemistry-Section A

Item No: 35

Question ID: 154771545235

Question Type: | MCQ

FCI60 9RG 98 QRKINE

@@ I: fgae 1e° AHIssIEan @ AguIg AUQGIEL, 64 G2I1R6a 1age 941 |

Question:
@@ I : 6219-3916 2G4l @012 99! dIn AUIsSas 2Igs 6 a9 aF |
RUEAIS 93 URINER A0R LAY GIIER 91T |

A: ead 98 11e° g I a6y




e 9@ I9e° aa II &2l

C: o@ 1 964 @3 @@ II day)
e@ 102y &3 @ I 90y

Topic: Chemistry-Section A

Item No: 36

Question ID: 154771545236

Question Type: | MCQ

Question: 20| FATAT AEUGR 6RINIDEG ATF OFA @G G

A: PCls. SO, <1@”° 8,Cl,

B PCl;. SO, J@” 8,Cl,

C: PCl;, SO, Je° Cl,

D PCls, SO, 9e° Cl,

Topic: Chemistry-Section A

Item No: 37

Question ID: 154771545237

Question Type: | MCQ

Question: g HNO; 2l6ai&q 986 aoaal @ &
A: HI. NO, ¥1@° H;0

B HIO, N,0 18° Hy0

C: HIO; NO, &° Hy0

D HIO, N,0 48° Hy0

Topic: Chemistry-Section A

Item No: 38

Question ID: 154771545238

Question Type: | MCQ

GIRGS 6QIG FUQ 659G AIPREIF1E 9FIGa qe% ?

Question:
geIE (QQISeF GFIG Sm, 62; Er, 68; Yb, 70; Lu, 71: Eu, 63; Tb. 65: Tm. 69)
A: Sm”” 9e° Er¥”
B: Yb2 9g° L™
C: Eu’”9@° Tb*"
D: Tb?™ 9@° Tm*"
Topic: Chemistry-Section A




Item No: 39
Question ID: 154771545239
Question Type: | MCQ

GER 995 98 QAUKIRE 601G F6RIB A AFITY F19¢ R 6Ise 626 @UQIDT |

@6QID A : 0acIElsRs AGAINR 2IDETIERIaR 27 A0dFsa AR FIZ

Question:
QIQE R : LIRELIERIER 2GS FIA8 TREE 6787 6106 24 |
RU60IS 93 FRIINER 0T LRAATY T IFT TR QIE |

A: 2ag A ¥e° R 0% ¥e° R 6298 A @ 90q S4IMI

B: 2@ A 9e° R 0% 4e°R. A @ 909 c4ie geg

C: AR @gRam

D: Agn @gRO®

Topic: Chemistry-Section A

Item No: 40

Question ID: 154771545240

Question Type: | MCQ

QIR I 920 olaa I deIgl

SRR I (A°ge) FIaQ II (A2

A_Ni(CO), T
B. [Ni (CN),1* I sp’d?

Question:
C_[Co (CN)g]* 0L d%sp’
D. [CDF6]3_ IV dsp2

G¢) QREQ A0K VE9TY 919 :

A: A-TV, B-I. C-III. D-II

B: A-I. B-IV. C-III, D-IT

C: A-I. B-IV, C-II. D-III

D: A-TV. B-1. C-II. D-III

Topic: Chemistry-Section A

Iltem No: 41

Question ID: | 154771545241




Question Type:

MCQ

@llol ‘Q_‘E@ g8l dleln Yinainegiewy I9° @I@H%’GG‘G“. DmegleTh @ FIne SO

Question: i S s, G e
0GElg &7 Ge6R QILAErEa JETal /08 GIZ, fIed

A: N, 6268 QIgFaR QIFIeadea Aaaa

B: FIRNETIETT A ATIREY P AT

C: 54FIRE W060 Joall 906ges AUdoea egImal

D: QETAT GI6aIE! Ie° 2@ GI9AIS] @aRIa a8l

Topic: Chemistry-Section A

Item No: 42

Question ID: 154771545242

Question Type: | MCQ

6 9ETA6R gl gIe 6208

Question: ;
OH  ()HT, tew
= (2)HBr
B,
A: =
B,
Br

C: %

Br
b: 7.)\/\*
Topic: Chemistry-Section A
Item No: 43
Question ID: 154771545243
Question Type: | MCQ




FIRGS 9Pe FIN6TIEER UF IRRUNIRGIA 9RG §¢1 2SR IIG
A p-9I9Rg

B. 65l651695G

Question: C. 6950

D. FlmegleasEq

E. 69Eq

&) QaE g A0R 9eecy Qg

A: C<D<E<A<B
B: D<B<E<A<C
C: D<C<E<A<B
D: C<D<E<B<A
Topic: Chemistry-Section A
Item No: 44

Question ID: 154771545244

Question Type: | MCQ

6dlde I g GIe HI 926 009 @6m e 2196218 6ddlde A & 12l 9a9IR zn g8
QTG a9 96m 6dltie B @1 1 A9e°B g 212 |

O
@/ \|/ Conﬁ. HI A /n, A B
1

Question:

OH

KLH ,B =

OH 0
= Q0
O

g -0

B




Topic:

Chemistry-Section A

Item No: 45
Question ID: | 154771545245
Question Type: | MCQ
GC6R QUS98 FEUKIRE 6alISg 961 A I9° 2GSy @Iad R €I6Q $86 faIieE
!
. 6918 A : AISAS § FlE6TLR F6m ZGRRA 2sdl, 67161 18° AR FINES)
Question: ceasRER 99a 21 |
QI8 R : Fl9s9ed g4l e dadiel aia da4
QUEAIB 9B RINER A0 VAT &7 GTgR UL |
A: 2ag A e° R 0% ¥e° R 6298 A @ 90§ Q4ISMI
B: 2ae A9e° R O @3 R. A @ 90 QI g%
C: AR @3 R g
D: Aga&@gR O’
Topic: Chemistry-Section A
Item No: 46
Question ID: 154771545246
Question Type: | MCQ




IRl I el II 92 deIel

SlIaa I (92e) eiRgl II(999)
i
A T CH,— .;|: =CH-CH, 1 1892 @gRe
cl "
ki i ]
B. + N—(CH, ), —N-C~(CH,),-C 1153
]
Question:
c|:1
C. +CH,—-CH M1 95 9100 agae
n
0O-H O-H
CH,
D @/ - \©_ CH, IV 61l 905N 9209
n

A0R LE9g 47 IaE AUQ Q1T :
A A-IL. B-III. C-IV. D-I
B: A-TIL B-II. C-IV. D-1
C: A-TIL B-1. C-IV, D-II
D: A-I. B-III. C-IV. D-II
Topic: Chemistry-Section A
Item No: 47
Question ID: 154771545247
Question Type: | MCQ

(ex-90190 Q00T T FUNER YOE 98 76 F2UART |

@8 1 : G099 AILIFISIE G @8 629 06 6R90 Geale GUI9ea dF6 9959

Question: @R @69 |
@@ II : 9 G6Re 999 920 da9I91 AR6dIFIa® G0 @RIsa |
QU6aIS 93 AGAIL, A0 VAT FYART kg QIF

A: e o= 99° 92 1108

end 06 [99° o8 Il gm




°2 108 @3 @2 Il a9

o2 gn @3 92 110

Topic: Chemistry-Section A
Item No: 48

Question ID: 154771545248
Question Type: | MCQ

GER 9T 98 QUUIPE 60ITg F6FI A Ie° 2G4EY RIRd R 916Q 626 @RI |

96919 A : 06% 26 ad 6AgR1 Ie HeaIFe a4 snge

Question: QI0d R : 06%1 90 @d sngalcn dRs sana e 4en 2ISad 9age AINIea gId
696 QU6E 65609 QUINE AT 2EIET TR FIF F5S |
RUEAIS 98 ZINER 77 G9F U 908 0a9sy QI |

A: 2eg A ¥e° R O% e° R 6208 A 20& QYIS

B: 298 A 98° R 0R 9e° R, AQ 90% QUi g6e

C: A O but R @m

D: Aga@gRO®

Topic: Chemistry-Section A

Item No: 49

Question ID: | 154771545249

Question Type: | MCQ

Question:

GORGe 9Tl 295919 A 8 B @ 2PasRIaR 96GE QLR &6 |

HCN

H30"

A

Fructose —|

(i) NaBH4
(#) HI'P

A= C?HHDB*

B = CgHy4

A= C?H13DT.

A= C?leoga.

B = CgHy4

90N ® >

A= C?ngrog*

B = CgH14056

Topic:

Chemistry-Section A

Item No:

50




Question ID:

154771545250

Question Type:

MCQ

OH
(1) I/ NaHCOs
(2) Pyridine, A ~
0

Question:
BIleol e g@@ﬂl aR ¢o adleg QILIQ K6 |
A: OQZD
I 5
B: Q[\ CO,H
I
D: @:o
Topic: Chemistry-Section B
Iltem No: 51
Question ID: 154771545251
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